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GENERAL ENGLISH / mmwﬁ faoﬁea‘

In Question Nos. 36-37, each sentence is in
active voice. Identify the correct passive
voice of the sentence and darken the right
answer in you answer sheet.

36. | have told a lie

(1) Alie have been told my me.

(2) Alie has been told by me.

(3) Alie was tell by me.

(4) Alieis being tell by me.

He is disturbing you.

(1)  Areyou being disturbed by him ?

37.

(2) You disturbed him.
(3) Isyou being disturbed by him ?
(4) Was you being disturbed by him ?

In Question Nos. 38 to 41, sentence
divided and numbered into three part
One of the parts may contain an errormis
Identify the error and shade/blacken the

In the Question Nos. 42-43, choose the
alternative which best expresses the meaning
of the idiom printed in the bold and darken the
appropriate answer in your answer sheet.

42. To carry off the bell
(1) To call others for help.
(2) To bag the first position.
(3) To steal all wealth and free.
(4) To trouble others.
43. Ajaundiced eye
(1) Jealously
(2) A generous view
(3) Angry
(4) Prejudice

n the Question Nos. 44-45, a paragraph or a
entence has been broken up into different parts.
he parts have been scrambled and numbered as

1S :. ﬁiven below. Choose the correct order of these

arts from the given alternatives and darken the
eFight answer in your answer sheet.

corresponding circle in you answer sheet.
there is no error, mark “(4) No Error”

The Delhi is the capital of India. =

38.
(1) (2 (3)
NoError
(4)
30, You should listen to
(1) (2)
your father'sadvice. NoError
(3) (4)
Shewas standing between
40.
(1) (2)
a crowd of children. NoError
(3) (4)
41 Christopher Columbus invented
' (1) (2)
America. NoError
(3) (4)
96 (6 -

44, (a) arefree from
(b) grow abundantly
(c) low plant
(d) Tundraregions
(e) during the short summer
(f)  like masses and lichens
(g) and
(h) ice
(1) (c), (f), (b), (e), (8), (d), (a), (h)
(2)  (d), (a), (h), (e), (g), (c), (f), (b)
(3)  (e), (c), (f), (b), (8), (d), (a), (h)
(4)  (e), (d), (a), (h), (g), (b), (c), (f)

45. (a) Youcantake

(b)  You can’t take
(c) Theboy
(d) The village
(e) out of the village
(f)  out of the boy
(8) but
(1) (), (c), (e), (g), (b), (d), (f)
(2) (a), (e), (b), (f), (c), (g), (d)
(3) (a), (f), (e), (c), (8), (b), (d)
(4) (a), (g), (b), (d), (c), (e), (f)

A)



To answer Question Nos. 46-50, choose the
correctly spelt word from the alternatives
given and shade/blacken the corresponding
circled number in your answer sheet.

46.

47.

48.

49.

50.

96

Psychiartist

Psychiatrist

Questions Nos. 51-54 have expressions which
can be replaced by single words. Choose the
most appropriate one word from among the
alternatives and darken the corresponding
circle in your answer sheet.

One word substitution

51. One who collect postage stamps.

Psycheatrist (1) Philosopher
Psykiatrist (2) Percussionist

(3) Pessimist
Gynacologi (4) Philatelist
Gynecology
Gynaecology 2. A person who is able to think clearly,

sensibly and logically is called
Gainaecology -—-\ﬁ

N (1) Rationalist
T (2) Optimist

Anesthesia o

(3) Pessimist
Anethesia

. (4) Choreographer

Anesthetia
Anesthecia 3. One who makes a scientific study of

birds is called
Entreprenure (1)  Scientist
Enterpreneur (2)  Zoologist
Entrepreneur (3) Ornithologist

(

Enterpreneuir

Hirarchy
Hirarky
Hierarkey

Hierarchy

4) Physicist

54. One who foretells the future.
(1)  Astronomer
(2)  Astronaut
(3) Astrologer
(

4)  Archaeologist

(7-A)



To answer the Questions from 55-59, read
the following passage carefully and

shade/blacken the correct answer.

The living room does not look good. It looks
bad without a carpet. Mary and Dan want
to buy a carpet. They want to buy a carpet

for their living room.

They go to the store. They look at the
carpets. There are many colours. There are
many sizes. Some have patterns. Some are

plain.

Mary likes a pink and purple carpet. It has

dots. It has pink and purple dots. Dan says no!

7.
He does not like the colours. He does not Iikeﬁ

e

the pattern. He does not like the size. The pink

-

and purple carpet is too big.

Dan likes a green and red carpet. It has
stripes. It has green and red stripes. Mary says
no ! She does not like the colours. She does
not like the pattern. She does not like the size.

The green and red carpet is too small.

Mary and Dan see a tan carpet. It does not
have dots. It does not have stripes. It i
plain. It is tan and plain. Dan likes the tan
carpet. Mary likes the tan carpet. They
both like the colour. They both like the size.
They both say yes !

Mary and Dan buy the tan carpet. They put
the carpet in the living room. The living

room looks wonderful with the new carpet.

59.

96 @8-

A)

5S.

56.

According to the passage, the pink
and purple carpet

(1) has dots

(2) has stripes

(3) istoosmall
(

4) s too plain

According to the passage, the green
and red carpet

(1) isplain
(2) has dots
(3) istoo big
(

4) istoo small

According to the passage, both Mary
and Dan like the

(1) pink and purple carpet
(2) green and red carpet
(3) tancarpet

(4) blue carpet

Mary and Dan do not see a
(1) black and blue carpet
(2) pink and purple carpet
(3) tancarpet
(

4) green and red carpet

According to the passage, Mary and Dan
want to put the new carpet in their

(1) bedroom

(2) dining room
(3) living room
(

4) bathroom



For Question Nos. 60 to 64, there is a sentence
having a blank space. Below each sentence
from words/phrases are given. Pick out the
most appropriate one to fill in the blank to
make the sentence meaningful and darken the
correct answer in your answers-sheet.

60. Suresh the examination in
high first class.
(1) gotin
(2) gotaway
(3) gotthrough
(4) gotrid of

Choose the word/phrase nearest in
meaning to the underlined part and
shade/blacken the corresponding circle in
your answer sheet (Q. Nos. 65 to 67)

65. The robber took to his heels when he
saw police inspector.
(1) had some pain in heels
(2) faced the police inspector
(3) could not decide what to do
(4) ran away from the scene

66. He is known for his philanthropy.

(1) Clarity (2) Charity
61. Parents their children. (3) Chastity (4) Creativity
(1) lookinto
(2) look at 7. He came across a cannibal in the forest.
(3) look after x (1) Flesh-eater (2) Man-eater
(4) look out ] (3) Vegetarian (4) Fire-eater

62. God defends the

(1) write
(2) wright -
(3) right
(4) rite
63. Our lived in caves and used

crude implements.
(1) ancients

(2) ancestors
(3) antipodes
(4) predecessors

64. The boy has written all the answers to
our

1) satisfy

2) satisfaction
3) satisfactory
4) satisfactorily

or Question Nos. 68 to 70, choose the
rd or phrase which is most nearly the

opposite in meaning to the underlined
ord or phrase and shade/blacken the
orresponding circle in your answer sheet.

68. His ideas are too vague to
understand.
(1) uncertain (2) clear
(3) indefinite (4) definite

69. This shop deals in genuine spare

parts.
(1) costly (2) cheap
(3) counterfeit (4) imported
70. We are ready to accept vyour
proposal.
(1) deject (2) inject
(3) reject (4) object

96 ©-A)
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71. 1 MBis equal to

72.

96

(1)

(2)

(3)

(4)

First Super Computer of India

(1)

(2)

(3)

(4)

1000 bytes

1000 KB

1024 bytes

1024 KB

Param 6000

Param 7000

Param 8000

None of these

73. Google Chrome is an example of

G
E

L A)

(1) Operating system

(2) Web Browser

(3) Internet Service Provider

(4) Website

URL stands for

(1) Uniform Resource Locator

(2) Universal Resource Locator

(3) Universal Resource Language

(4) Uniform Resource Link
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75. Which of the followings does not 77. ENIAC and UNIVAC are

belong to the group ?

(1) First generation Computers

(1) Linux
2)  Wind
) indows (2) Second generation
(3) Android
Computers
(4) Lolipop

(3) Third generation Computers

76. Match the following :
(4) None of these

1. TCP a. Network

Topology

2. BSNL b. Web Browser o
78. Find the false statement :
3. Internet c. Transfer Control
Explorer Protocol o (1) .gov stands for government
4, STAR d. Internet Service websites
Provider
Choose the right answer from the (2) .org stands for commercial

options given below : websites

1 2 3 4

(1) a b c d (3) .ac stands for educational

(2) b C d a institute’s websites

3) ¢ d b a
(4) .instands for Indian websites
(4 ¢ d a b

96 (13-A)
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79. Central Processing Unit of a 81. An operating systemis a
computer include (1) Utility program

(1) ALUand CDROM (2) System program
(3) Application program
(2) ALU, Memory, Input / Output
(4) Antivirus program
Unit

(3) ALUandCU

2. New document can be opened in

8
MS word using key
(4) ALU and Memory
combinations.
8

35

(1) Ctrl+N

(2) cCtrl+A
80. In MS-Word toggle case means

(3) ctrl+0

(1) changes the letters into
(4) Ctrl+R

upper case

(2) capitalizes each word 3. A key combination to select all

items on the desktop is
(3) changes upper case letters to
(1) Ctrl+Home
lower-case and vice-versa

(2) Alt+A

(4) changes the letters to lower
(3) Ctrl+A

case

(4) Ctrl + Alt + Delete

96 (15-A)
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84.

8s.

86.
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are the programs which

are automatically loaded and

works as a part of the Browser.

(1) Addons

(2) Plugins
Firewalls

(3)

Cookies

(4)

Symbol which is not permitted in

e-mail address is

(1)

Underscore ()

(2) Attherate (@)

(3) Blankspace( )

(4) Period (.)

Which of the following is not an

application program ?
(1) Windows 7
(2) MS Office
(3) Tally

(4) CAD

87.

%

(17 - A)

In PowerPoint presentation, text

box and clip art can be selected

from menu.

(1) Insert

(2) File

(3) Design

(4) Animation

To send an e-mail to multiple

recipients by hiding the address of

other recipients we use option.

(1)
(2) Hide
bcc

(3)

(4)
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(2) BRIT* B
(3) BPoe3T® B
(4) 39T 3R



89. This is used to translate image into

90.

91.

96

text

Camera

(1)
(2) OCR
Scanner

(3)

(4)

Microphone

A laser printer’s speed is measured
in
(1)
(2)

cps

(3) ppm

(4)

Which of the following is not an

internet browser ?

Chrome

(1)
(2) Mozilla
(3) Opera

(4) Google talk

3.

:
E

(19-A)

Notepad does not have this option

(1) Word wrap

Font

(2)
(3) Text Alignment

(4) Page setup

Which among the following is

correct extension of MS-Word files ?

(1) .mdb

(2) .xIs
.doc

(3)

(4) .ppt

A computer’s CPU consists of

millions of tiny switches called
(1) Bits
(2)

Registers

Counters

(3)

Transistors

(4)



9s.

97.

96

Q0.QX°. ITFF aSeg e90° B TBeN 98.

VD 03ReNTVLIeFIT eI

(1) Ctrl+u
(2) Ctrl+z
(3) Alt+u
(4) Alt+z

3838 OY0E ATy
RRBDIS ? 9.

(1) 3336 M3, f

(2) 3E3B SewsD
(3) 3B3BE3B AT wriad

(4) =BT D03

S0 DOBOS[L, YD

Bo3-BoBTT 30Ty OFOTD

300w@aT ?
(1) ee3dBIF®
(2) e e3oesr

(3) o, 3eT’ (0z9,03)

(4) SpeNYO0 (T20DF 3 )

MS-Power Point def)m ﬁméa‘? e

NOT LT0deeNRS 3e/TW.

(1) Rightarrow

(2) Escape
(3) Ctrl+s
(4) Alt+s

100. 20T Fo0AIF o8 ¥RR0T,

D.V.D. od Ze3&0 md)z;j?sr

(1) 700 MB
(2) 700GB
(3) 4.7MB
(4) 4.7GB

B0V V03N derwd

(1) Ctrl+tab
(2) Alt+tab
(3) Ctrl+alt

(4) B AoY@e v

(20-A)



95. Key/s used to perform ‘un-do’ in 98. A step by step procedure to solve a

MS-Word problem
(1) Ctrl+u (1) Analgorithm
(2) Ctrl+z (2) Flow chart

(3) Software
(3) Alt+u

(4) Program
(4) Alt+z

9. Key/s to be used to stop a slide
96. File name extension indicates show in MS-PowerPoint

(1) size of the file f (1) Right arrow
(2) author of file (2) Escape
(3) type of content of file ) (3) Ctrl+s
(4) date of creation (4) Alt+s

97. Storage capacity of DVD 00. Keys used to switch from one

program to another

(1) 700 MB
(1) Ctrl+tab
(2) 700GB
(2) Alt+tab
(3) 4.7 MB
(3) Ctrl+alt
(4) 4.7GB (4) None of these

96 21-A)
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96-A Note : English version of the instructions is printed on the front cover of this booklet.



